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@Zc*]:
Óx�V CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

ÎZßV»�Z[�bÑiòìX Ð
ìX ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[Ñiò  10 zZzw~ .1

(10 x 1 = 10 Marks) ��ìX  1 CÙÎZwÆa
/V6, (200) ÎZÑ]�ÔZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ 8 z�zx~ .2

(5 x 6 = 30 Marks) �Z]��X 6 �ìXCÙÎZwÆa
/V6, (500) CÙÎZw»�Z[½ã0*õÎ ÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�X 5 zÎx~ .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa �ìX

zZzw
1 : ÎZw

£ë�X Ative Circuit (i)

Æ!*g}~ÉÀ�/õGX E.M.F (ii)

Åz�s#�,X form factor (iii)

ÆÃð�z�ÛtÃC�X D.C Zzg A.C (iv)

£ë�X Voltage regulation (v)

6,¿ùMMÉÀ�/õGX Transformer (vi)

ÐH%Z�ìX Rotor frequency (vii)

Ã{�Åæ�ÐC�X power stagesÆinduction motor (viii)

HìX SFU (ix)

ÐH%Z�ì? switch gears (x)

z�zx

�bX6� (calculate) ñ��ìZkÃ¥x current 6,�  Resistor ÃzZãÙX Norton Theorem X2

Z°Z�zÑg~�3c*�HìX
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» 0.05 » resistor H�HìZzgZkÆ0*k parollel connectÆcoil ìTÃ capacitor» X3

�ÛZë�,ÐX�[ 50Hz �,ÐZzg connectÐ200vÃ parallel combination ìXZ¤/Zk inductance

�bX
Power consumed (c) Zzg Power factor (b) The line current (a)

!*nKM 450W Zzg 350WÔfull load copper losses Zzg iron losses TÆ transformerÆ25KVA X4

¥x�bX efficiency �XZy6, (Respectively)

Half full load, 0.8 power factor lagging (b) Full lead unity power factor (a)

Ã,Ð{�Æ�BÒy�bX (Constrcution) ÆyZC Syynchronous generator X5

ÆZlxÃz�s#Æ�BÒy�bX Batteries X6

ìX 970 r.p.m ìXgëg input power 45kwÆinduction motorÆ50HzÔ Ô6 - pole X7

¥x�bX friction and windage losses = 1.18 kwÔstator lossed = 1.2 kw

The efficiency of the motor (b) The rotor copper loss (a)

�bX (Drive) Æ�BegZÇ (Diagram) Ã{� expressionÆcurrentÆR - C Series Circuit Xc8

Ã,Ð{�Æ�BÒy�bX Auto ftransformer X9

zÎx

ÃÒy�bX Superposition Theorem (a) X10

~¦/gg;ìX� ressistor Ã¥x�bÔ� current ÃZEw�D�ñ Theverin's Theorem (b)

ìX6�{�~Cc*�HìX connected Æ�gxy node'B' Zzg node 'A'
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�bX sinusoidal e.m.f. equation» Alternating Current �b: (drive) egZÇ (a) X11

�X connected~series ì� inductance» 50mH Zzg resistor» TÆ0*k coil Zq- (b)

capacitor» Zzg inductance» 0.2HÔresistor» Æ�BTÆ0*k R-L-C series circuit

�ÛZë�g�ìX¥x�bX supply 50th ìX connected 0*k 230v» Total series combination ìX
Power factor (c) Voltage across coil R-L-C (b) The current drawn (a)

Ã{�Åæ�ÐÒy�bX Short circuit test Zzg Open circuit test (a) X12

250v Å�ÛZb�g;ìXZ¤/ (load) Æße 5KW auto transformer6,unity power factorÆ125v (b)

�bX (determine) ìXç primary voltage

Primary current (iii) Secondery current (ii) Transformer ratio (i)

Number of secondary turns if total number of turns is 250 (iv)

Power transformed conductivety (vi) Power transformed inductivety (v)

ÃÒy�bX principle of operationÆ induction motor (a) X13

ìXT 0.8Ôpower factor ìZzg 0.83Ôfull load efficiency T» induction motor» 3phase (b)

Ð(supply) að 500vÆmotorÐfull load current ic*�{ìX 3.5 timesÔshort circuit current~
�bX (estimate) »( line current îg6, (instant starting) Æfg=ñW,ÆZ�Zð star - delta switch

ÃÃZ0+Zi�bX Magnetic current

ÃÒy�bX MCCB (a) X14

ÆZlxÃ{�Æ�BÒy�bX Earthing (b)

///

3/3


